1) Entoure chaque mslabonnereponse
f+16=(5) 7
f8+8= 4 @ 8
3= 6 9
6= 3 (6) 6
2) Simplifie :

V27 =323=33  2W/50=V5%2=5/2 IVI50 =+/5%.6 = 546
41200 =+1022 = 1042 5)\/_\/7*/4_2 4/10 4*/__2*@(:04\/5)

V10 10410 10
a5 [ _V35 35 \/7 V22223 43 \/7 V622 ﬁ 6\/_
VOB =\T00 = Jior ~ 10 New= 7 ~ 7 ®
3)Effectue et simplifie :

W3AB3A21=3v21 3)3/3.24/3.442 =24.342 = 7242
W28 =42.273. 32 =2233=1243  4)v2[3v20)=-312275 =3.2J10 =—6+10

4)Effectue et simplifie :

V50 — VI8 =52 —/322 =52 - 32 =22

240 — 160 + 3490 =+/22.10 = /42,10 + 34/3%.10 = 210 — 4410 + 3.3v10 = —2+/10 + 910 = 74/10
IN2 (V3 +3/5) =123 + 4245 = V6 + 410

- 3) (V7 -1)= 3T (V3 )1= 21443

5)(— 2J§)- (ﬁ-ﬁ): —2J§.J§—(— 2\/5)\/§=—2.3+ 23.5=-6+2415

OW45 + 112 =20 =28 =325 + /22227 =225 =227 =35 + 4T = 25— 2T =[5+ 27
TI500 + /75 + /80 — /125 = 1025 + /523 + 122225 = /525 = 104/5 + 543 + 44/5 — 545 = 94/5 + 543
8)(v2 +3) (V3 - 332)= V243 ~V2.3v2 + 343 ~\3332 =6 — 6+ 3~ 36 =26 - 3

o3 —2) = (V3] ~24342+ (V2] =3-2V6+2=5-2/6

105 -7 )- (V5 ++7)=(\5F (V7] =5-7=-2




